
1

FRONT PAGE

Installation manual

©
 C

O
P

Y
R

IG
H

T
 –

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7
 –

n
o
te

: 
p
ro

d
u
c
t 

s
p
e
c
if
ic

a
ti
o
n
s

m
a
y

c
h
a
n
g
e
 w

it
h
o
u
t 

p
ri
o
r 

n
o
ti
c
e
.

Mobile Stand Mix®

item number: 481A71001



2

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

General Warnings

Tools

Set
Page 1:

Page 2:

Page 3:

Page 4 

Last page: 

Note

When

minor, these 

Content of 
MAX 10°MAX 10°

MAX
10°

WARNING 
MAXIMUM SLOPE 

10 DEGREES 

WARNING 
DO NOT PULL-DOWN 

SLOPE

STAY ABOVE CART 
WHEN MOVING 

DOWN SLOPE

Important
warnings

before use



3

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

Content of the box

Bag with screws



4

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

Content of Bag with Screws

F: 4x M10x30 6

H: 2x M6x30 5

G: 4x M8x20 5

K: 4x M8 13

Key-size: Needed 

tool:

1:1

*

*

*

* Not included



5

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

1 Mount the casters

(2x)D

(2x) E

Push down with a rolling 

movement to work the

retainer ring in to the hole

Mount the casters with

the brake at the front

(the long end of the legs)

Put both legs on the table

flat side down to push the

casters into their

mounting holes

C

B

DO NOT

USE A 

HAMMER



6

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

2 Assemble the wheelbase and column

Make sure the top plate of each

leg touches the topside

of the cross bream before

tightening the screws

F: 4x   M10x30

(1x) B

(2x) F

(2x)F

(1x)C

TIGHTEN MIN.

15 ft-lb / 20Nm



7

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

3 Mounting BalanceBox®400* on the Mobile stand                                                                            (*not included)

4 Mount the BalanceBox®400* at the desired position

Please follow the mounting

instructions of the

BalanceBox®400

G: 2x   M8x20

H: 2x   M6x30

*

* Not included

1

2

Position 1

Adult use

Position 2

Child use

BalanceBox® 400*

1 2



8

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

5 Mounting VESA bracket 481A70* on the Mobile Stand                                                                    (*not included)

6 Mount the VESA bracket 481A70

Position 1

Adult use

Position 2

Child use

VESA 

bracket

481A70*

1:1

2x M6x12
1:1

2x M8x12

Please follow the mounting

instructions of 481A70

M8

M6



9

Mobile Stand Mix®

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7

7 Mounting 3rd party VESA bracket on the Mobile Stand                                                                   (*not included)

8 Mount the 3rd party VESA bracket

Position 1

Adult use

Position 2

Child use

3rd Party 

VESA 

bracket

G: M8

K: M8

K: M8

G: M8

4x:

G K

Please follow the mounting

instructions of the 3rd party 

VESA bracket

K: 1:1

4x M8
G: 1:1

4x M8x12



10

BACK PAGE

Regout Balance Systems B.V.

Industrieweg 40

6219 NR Maastricht

The Netherlands

Thomas Regout Inc.

145 Bluffs Court

Canton, GA 30114

USA

©
 C

O
P

Y
R

IG
H

T
 –

d
o
c
u
m

e
n
t 

n
u
m

b
e
r:

 9
0
2
9
1
8
-0

7
 –

n
o
te

: 
p
ro

d
u
c
t 

s
p
e
c
if
ic

a
ti
o
n
s

m
a
y

c
h
a
n
g
e
 w

it
h
o
u
t 

p
ri
o
r 

n
o
ti
c
e
.


	Dia 1
	Dia 2
	Dia 3
	Dia 4
	Dia 5
	Dia 6
	Dia 7
	Dia 8
	Dia 9
	Dia 10

